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3HQJHORODDQ� GDQ� 3HPDQIDDWDQ� .HXDQJDQ�
GDQ� $VHW� 1DJDUL� GL� 1DJDUL� 7DUDWDN� %DUX�
.DEXSDWHQ�6LMXQMXQJ�

3HQJHORODDQ� GDQ� SHPDPDDWDQ� NHXDQJDQ� GDQ� DVHW� QDJDUL� KDUXV� GLODNXNDQ� VHFDUD�
WUDQVSDUDQ� GDQ� DNXQWDELOLWDV� \DQJ� VHVXDL� GHQJDQ� SULQVLS� JRRG� JRYHUQDQFH�� 1DPXQ�� GL�
.DEXSDWHQ�6LMXQMXQJ�SHQJHORODDQ�GDQ�SHPDPIDDWDQ�NHXDQJDQ�GDQ�DVHW�QDJDULQ\D�EHOXP�
EHUMDODQ�VHFDUD�RSWLPDO��3HQHOLWLDQ�LQL�GLODNXNDQ�XQWXN�PHQGHVNULSVLNDQ�GDQ�PHQJDQDOLVLV�
SURVHV�SURVHV� SHQJHORODDQ� GDQ� SHPDPIDDWDQ� NHXDQJDQ�� DVHW� QDJDUL� GDQ� NHVLDSDQ�
SHPHLQWDK� QDJDL� GDODP� SHQJHORODDQ� GDQ� SHPDPDDWDQ� NHXDQJDQ� GDQ� DVHW� QDJDL� VHUWD�
SHUPDVDODKDQ�GDODP�SHQJHORODDQ�NHXDQJDQ�GDQ�DVHW�1DJDUL�GL�.DEXSDWHQ�6LMXQMXQJ��

3HQHOLWLDQ� LQL�PHQJJXQDNDQ�PHWRGH�GHVNULSWLI� SHQGHNDWDQ�NXDOLWDWLI� �� SHQHOLWLDQ�
LQL�GLODNXNDQ�GL�QDJDUL�7DUDWDN�%DUX�GL�.DEXSDWHQ�6LMXQMXQJ���LQIRUPDQ�SHQHOLWLDQ�GLSLOLK�
PHQJJXQDNDQ� WHNQLN� SXUSRVLYH� VDPSOLQJ�� 'DWD� SHQHOLWLDQ� LQL� DGDODK� GDWD� SULPHU� GDQ�
VHNXQGHU��'DWD�GLNXPSXONDQ�GHQJDQ�WHNQLN�ZDZDQFDUD��REVHUYDVL�GDQ�VWXGL�GRNXPHQWDVL��
7HNQLN�SHQJXMLDQ�NHDEVDKDQ�GDWD�GHQJDQ� WULDQJXODVL�PHWRGH��6HGDQJNDQ� WHNQLN�DQDOLVLV�
GDWD�PHQJDFX�SDGD�WHNQLN�\DQJ�GLNHPEDQJNDQ�ROHK�6XJL\RQR�

+DVLO� SHQHOLWLDQ�PHQXQMXNNDQ� EDKZD� SHQJHORODDQ� NHXDQJDQ� GDQ� DVHW� QDJDUL� GL�
.DEXSDWHQ� 6LMXQMXQJ� EHOXP� RSWLPDO�� 0DVLK� WHUGDSDW� NHQGDOD� GDODP� SHQJHORODDQQ\D��
NHQGDOD�WHUGDSDW�SDGD�SHPEDKDVDQ�SHUHQFDQDDQ�DQJJDUDQ�SHQGDSDWDQ�GDQ�EHODQMD�QDJDUL�
\DQJ� WLGDN� WHSDW� ZDNWX� GDQ� NXUDQJQ\D� VXPEHU� GD\D� PDQXVLD� \DQJ� EHUODWDU� EHODNDQJ�
DNXQWDQVL�� 3DGD� SHQJHORODDQ� DVHW� QDJDUL� WHUGDSDW� SHUPDVDODKDQ� SDGD� LQYHQWDULVDVL� DVHW�
QDJDUL� \DQJ� SHQJRODKDQ� GDWDQ\D�PDVLK� NXUDQJ� EDLN� GDQ� WDQDK� SHPHULQWDK� QDJDUL� \DQJ�
EHOXP�WHUVHUWLILNDVL�
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